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Simplified reading and comprehension Unit 3

Answer key

Comprehension 1
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Golden rice can help the children in developing countries solve health problems like a lack
of vitamin A. (any reasonable answer)

dry eyes, night blindness, anaemia, dry ‘bumpy’ skin, hair loss, diarrhoea (any three)

(i) GMOs are restricted or banned in 38 countries.

(ii) A growing number of people are choosing to only eat organic foods.

because growing GM crops may be the only way to produce enough food for the growing
population (any reasonable answer)

C

you are what you eat

i) D
C
i) A
B

(i) laboratory
(i) twenty/20
(i) labels

(iv) educate

i) alter

ii) vast

iii) opponents

iv) thoroughly
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